DATE

Check the correct answer.

1) In this problem, what is 3?

3+0=3
Sum
Difference

;,Hh ADDITION AND SUBTRACTION TERMS

5) In this problem, what is 1?

2-1=1
Sum
Difference

_________________________________________________________________________________________________________

2) In this problem, what is 7°?

5+2=7
Sum
Difference

In this problem, what is 27?

10 -8=2
Sum
Difference

8-5=13
Sum
Difference

7) In this problem, what is 4?

1+3=4

Sum

Difference

_________________________________________________________________________________________________________

4) In this problem, what is 6?

1+5=6

Sum

Difference
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In this problem, what is 8?

10-2=38

Sum

Difference



